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$\text{Dijkstra}$ OO0 00O

00000 $0(m\log m)$[]

template <typename T>
struct dijkstra
T dis[MAXN];
bool vis[MAXN];
priority queue<pair<T,int>,vector<pair<T,int> >,greater<pair<T,int> >

=q;
void solve(int src,int n
mem(vis,0);
_rep(i,1,n
dis/i/=Inf;
disisrc|=0;
g.push(make pair(disisrc|,src));
lq.empty
pair<T,int> temp=q.top();q.pop();
int u=temp.second;
vis|u
vis|u|=true;
int i=head/ul;i;i=edge|i].next
int v=edgeli].to;
dis|v/>edge|i]|.w+dis|u
dis|[v|=edge|i]|.w+dis|u];
g.push(make pair(disiv!,v));
ool
00 pld62
oo
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00000000 $\text{dijkstra}$ 00000000000 DOO0O0OOOOOOODOOOOOOOO
gobooooooooo

00000 $0(n\log m\log v)$

const int MAXN=1e4+5,MAXM=5e4+5,Inf=2e9;
struct Edge
int to,w,next;
edge [ MAXM<<1];
int head MAXN|,edge cnt,val MAXN!,limit;
void Insert(int u,int v,int w
edge| ++edge cnt|.next=head|u];
edge|edge cnt].to=v;edgeledge cnt!.w=w;
head|u!=edge cnt;

template <typename T>
struct dijkstra
T dis[MAXN];
bool vis[MAXN];
priority queue<pair<T,int>,vector<pair<T,int> >,greater<pair<T,int> >

>q;
void solve(int src,int n
mem(vis,0);
_rep(i,1,n
dis[i|=Inf;
dis|src|=0;
g.push(make pair(dis|srcl,src));
Iqg.empty

pair<T,int> temp=q.top();q.pop();
int u=temp.second;
vis|u
vis|u!/=true;
int i=head|u];i;i=edge!i].next
int v=edgel[i].to;
val|v/>limit
dis/v/>edge[i!.w+dis|u
dis|v/=edge|i|.w+dis|u];
g.push(make pair(disiv!,v));
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dijkstra<LL> dj;
int main
int n=read int(),m=read int(),b=read int
_rep(i,1,n
val|il=read int();
lef=min(vallil,lef);
rig=max(vallil,rig);

m__
u=read int(),v=read int
Insert(u,v,w);
Insert(v,u,w);

,w=read_int

int mid,ans=-1;
lef<=rig
mid=lef+rig>>1;
limit=mid;
dj.solve(l,n);
dj.dis[nl<=b
ans=mid;
rig=mid-1;

lef=mid+1;

ans>=
enter(ans);

puts ("AFK");

’

a2
oooooo@oo)lo
go

gobogobooobobooon

1. $[x,yl\to [x+1,yl(x\It y)$
2. $[x,yI\to [x,y-11(x\It y)$

3. $[x,yl\to [x-1,yl(x\gt 1)$
4. $[x,yI\to [x,y+1](y\lt n)$

,u,v,w,lef=Inf, rig=0;

.
’
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const int MAXN=505%* ;

const LL Inf=1lel2;

struct Edge
int to,w,next;

edge [ MAXN<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v,int w
edge|++edge cnt|=Edge{v,w,head/ul};
head|u!=edge cnt;

template <typename T>
struct dijkstra
T dis[MAXN];
bool vis[MAXN];
priority queue<pair<T,int>,vector<pair<T,int> >,greater<pair<T,int> >

>q;
void solve(int src,int n
mem(vis,0);
_rep(i,1,n
dis[i|=Inf;
dis|src|=0;
g.push(make pair(dis|srcl,src));
Iqg.empty

pair<T,int> temp=q.top();q.pop();
int u=temp.second;
vis|u
vis|u!/=true;
int i=head|u];i;i=edge!i].next
int v=edgel[i].to;
dis|v/>edge|i]|.w+dis|u
dis|vi/=edge[i|.w+dis|u];
g.push(make pair(dis|v],v));
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dijkstra<LL> solver;

int n,m;

int Id(int r,int c r-1)*(n-1)+c;
int main

n=read _int(),m=read int();
int s=Id(n-1,n-1)+1,t=s+1;
int r,c,w,idl1,id2;char d;
m_ =
c=read int(),r=read int(),d=get char
idl=Id(r-1,c);
=="'L"
==
id2=t;

id2=Id(r,c);

C==
id2=s;

id2=Id(r-1,c-1);
Insert(idl,id2,w) ;Insert(id2,idl,w);

solver.solve(s,t);
solver.dis|t]==Inf
puts("-1");

enter(solver.dis|[t]);

?

ooooooon

$\text{SPFA}s 00O O

0000000 $O(Km)$fOOoODOO0 $0(nm)s$

template <typename T>
struct SPFA
T dis[MAXN];
int len[MAXN];
bool inque|MAXN];
bool solve(int src,int n
queue<int>q;
mem(inque,O);mem(len,0);
_rep(i,1,n

,w=read_int
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dis[i]=Inf;
dis[src|=0;len[srci=1;
g.push(src);
inquelsrc|=true;
Iq.empty
int u=q.front();q.pop();
inquelul=false;
int i=head/ul;i;i=edgeli].next
int v=edgel[i].to;
dis|v/>dis|ul+edge|i]|.w
dis/v/=dis|ul+edgeli].w;
len[vi=len[ul+1;
len|[v|>n
false;
linque|v
g.push(v);
inquelv =true;

true;

ugd

00 p5960

go

OO0 $$ \left \{ \begin{array}{I} x_{al}-x {b1Nley 1\\ x _{a2}-x {b2}\le y 2\\\cdots\\ x_{am}-
x_{bm}\le y m\end{array} \right. $$

oo
0 $xjx Ney$ 000D $x j\lex i+y$00000000000000000 $\text{dist} jle

\text{dist} i+\text{w} {i\toj}$ 000

00000000 $x 0$0¢x 0s 0O DO0O0O0OOOOODOSS(CIOOOOOOOOOOoOooooonon
Oboobobooobooy)yoooo

0000000000000 $x i=\text{dist} i+k$ 000 O00ODO0OOOO

const int MAXN=1e4+5,MAXM=5e5+5,Inf=1e9;
struct Edge
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int to,w,next;

edge [ MAXM<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v,int w
edge| ++edge cnt|.next=head|u];
edge|edge cnt].to=v;edgeledge cnt!.w=w;
head|u!=edge cnt;

template <typename T>
struct SPFA
T dis/MAXN];
int len[MAXN];
bool inque!MAXN];
bool solve(int src,int n

gqueue<int>q;
mem(inque,©);mem(len,0);
_rep(i,1,n
dis|[i|=Inf;
dis|[src|=0;len|srci=1;
g.push(src);
inquelsrc|=true;
Iqg.empty

int u=q.front();q.pop();
inque/u/=false;
int i=head/u];i;i=edgel|i].next
int v=edgel[i].to;
dis|/v/>dis/u/+edgei|.w
dis|v/=dis/ul/+edge|i].w;
len/vi=lenlul+1;
len{vi>n
false;
linque|v
g.push(v);
inque/ v/ =true;

true;

SPFA<int> spfa;
int main

int n=read int(),m=read int(),u,v,w;
_rep(i,1,n)Insert(n+1,1i,0);
m_-
u=read int(),v=read int(),w=read int();
Insert(v,u,w);

spfa.solve(n+1,n+
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_rep(i,1,n
i>1)putchar(' ');
write(spfa.dis[i]);

puts("NO");

’

guoooobobod

$\text{Floyd}$ 00 0 O

00000 $0(n~3)$00 000000

int n,dis MAXN]| MAXN];
void Floyd
_for(i,0,n
_for(j,0,n
dis/i![jl=
_for(i,o0,
dis/i][i ;
_for(k,0,n
_for(i,0,n
_for(j,0,n
dis/i|[jl=min(dis[i![j],dis!i] k|+dis[Kk]![j]);

Inf;

I =

o

00pll19

od

OO0 s$ns0000$m$ 000000000 $tis0000000O@DOD $tisO0O)o

$q$ 000000000 $t$00 $dis(i,j)spo 000 sts000

od

00 $\text{Floyd}$ 00O O OOO $\text{dp}$Q

$dis[k][il[jl$ 000000 $k$ 000 OCOO0ODO $is0$¢ 00 0000DOO0OO0OOODOOOODO

https://wiki.cvbbacm.com/ Printed on 2025/07/13 03:00


https://www.luogu.com.cn/problem/P1119
https://www.luogu.com.cn/problem/P1119

2025/07/13 03:00

9/28

o001

gobogobooobbooon

const int MAXN= +5,Inf=1e9;
int dis[MAXN] [MAXN|, t[MAXN];

int main

int n=read _int(),m=read int

_for(i,0,n
tiil=read int();
_for(i,0,n
_for(j,0,n
dis[il[jl=
m- -

u=read int(),v=read int

dis|ul[v]=dis|v

_for(i,0,n
dis[i][i]1=0;

int g=read int(),pos=0,temp;

q_-

u=read int(),v=read int
t[pos | <=temp&&pos<n

_for(i,0,n
_for(j,0,n

dis[i|[j/=min(dis|i

POS++;

tiu/>temp||t[v|>temp]||dis|u

enter(-1);

enter(dis/ullv]);

$\text{Johnson}$ 0 OO0

0 0 p5905

O0O000DOOoO0o00oooOoOooooOoOoosesooonoo

000 $\text{SPFA}$J0 0000000 DOOOO0OODOOOOODOOOOOO $h.i$n

00000000000 $w+h u-hv$JO0O0OO0OO00O0O $s\tot$s 0000

yU, VW

,w=read_int

,temp=read int

.
’

jl,dis!i] [ pos]|+dis

v |==Inf

pos

\begin{equation}(w_{s,p1}+h s-h {pl})+(w _{pl,p2}+h {pl}-h {p2})+\cdots+(w_{pk,t}+h {pk}-

h_t)=w_{s,pl}+w {pl,p2}+\cdots+w_{pk,t}+h s-h_t\end{equation}

ddddoooooouooo
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00000 $\text{SPFA}$ DO OO $h wWe h_u+w_{u,v}$00 $w_{u,v}+h u-h v\ge 0%

O000000O00O0000000 $n$ O $\text{Dijkstra}$ 00 0000CO0O

00000 $0(nmlogm)$00 00000

const int MAXN=3e3+5,MAXM=9e3+5,Inf=1e9;
struct Edge
int to,w,next;
edge MAXM| ;
int head MAXN]|,edge cnt;
void Insert(int u,int v,int w
edge|++edge cnt|.next=head|u];
edge|edge cnt].to=v;edgeledge cnt!.w=w;
head|u|=edge cnt;

template <typename T>
struct SPFA
T dis MAXN];
int len/MAXN];
bool inque|[MAXN!;
bool solve(int src,int n

queue<int>q;
mem(inque,O);mem(len,0);
_rep(i,1,n
dis|[i|=Inf;
dis|src|=0;len(srcl=1;
g.push(src);
inque/src|=true;
Iq.empty

int u=q.front();q.pop();
inque/u/=false;
int i=head(u];i;i=edgel[i].next
int v=edgel[i].to;
dis|[v]|>dis|ul+edgeli].w
dis|v/=dis/ul+edgeli] .w;
len/vi=lenlul+1;
len[vi>n
false;
linquelv
g.push(v);
inquelv =true;

true;
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template <typename T>
struct dijkstra
T dis[MAXN];
bool vis[MAXN];
priority queue<pair<T,int>,vector<pair<T,int> >,greater<pair<T,int> >

=
void solve(int src,int n
mem(vis,0);
_rep(i,1,n
dis|i|=Inf;
dis|src|=0;
g.push(make pair(dis|srcl,src));
Iq.empty

pair<T,int> temp=q.top();q.pop();
int u=temp.second;
vis|u
vis|ul|=true;
int i=head(u];i;i=edge[i].next
int v=edge(i].to;
dis/v/>edge/i|.w+dis|u
dis|v/=edge/i|.w+dis|u/;
g.push(make pair(dis|v],v));

SPFA<int> spfa;
dijkstra<int> dj;
int main

int n=read int(),m=read int(),u,v,w;
_for(i,0,m
u=read _int(),v=read int(),w=read int();
Insert(u,v,w);

_rep(i,1l,n
Insert(n+1,i,0);
I'spfa.solve(n+1,n+
puts("-1");

’

_rep(u,1l,n
int i=head|u];i;i=edgel|i].next
int v=edge/i!.to;
edge/i|.w+=spfa.dis|ul-spfa.dis|v];

_rep(i,1,n
LL ans=0;

CVBB ACM Team - https://wiki.cvbbacm.com/



Last

update: 2020-2021:teams:legal_string:jxm2001:
2020/08/01 oo

00:03

https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:jxm2001:%E5%9B%BE%E8%AE%BA_1&rev=1596211417

dj.solve(i,n);

_rep(j,1,n dj.dis[j|!=Inf
dj.dis|[j|-=spfa.dis|[i]-spfa.dis|[j];
rep(j,Ll,n

ans+=1LL*j*dj.dis[j];
enter(ans);

goog

ogo
UVAl4l6e
go

OO0 $n$000$M$ 000000 $c$0000000DO0O0O0O0O0O0O0O
00000000000 $c$0000@OUO0poooooon $Ls)

googag $n\le 100,m\le 1000,L\le 10"8%
oo

00000 $\text{Dikstra}$s 0000 O0O000O0OOOO0ODOOO
gobogoboboodbobooobobuooobbooooo

000000000000 $\text{Dikstra}$ 000000000 O00O0O0ODOOOODOOOOOODO
g

gbobogobooooobooon

00000000000 $n-1$00000000000 $n-1$ O $\text{Dijkstra}$[

00000 $0(n™2m\log m)$[]

const int MAXN= , MAXM= ,Inf=1e9;
struct Edge
int from,to,w,next;
edge [ MAXM<<1];
int head MAXN|,edge cnt;
void Insert(int u,int v,int w
edge| ++edge cnt|.next=head|u];
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edgeledge cnt].from=u;edgeledge cnt|.to=v;edgeledge cnt|.w=w;
head|u!=edge cnt;

template <typename T>
struct dijkstra
T dis[MAXN];
int p/MAXN];
bool vis[MAXN];
priority queue<pair<T,int>,vector<pair<T,int> >,greater<pair<T,int> >

=q;
void solve(int src,int n
mem(vis,0);
_rep(i,1,n
dis[i|=Inf;
dis[src|=0;
g.push(make pair(disisrcl,src));
Iq.empty

pair<T,int> temp=q.top();q.pop
int u=temp.second;
vis|u

’

vis|u!=true;

int i=head|u];i;i=edge[i].next
edgeli].w<

int v=edgel[i].to;
dis/v/>edge|i].w+dis|u
dis|vi/=edge[i|.w+dis|u];
plvi=i;
g.push(make pair(dis|v],v));

dijkstra<int> dj;

vector<int> edge w|[MAXN| MAXN];
bool tree edge!MAXN| |[MAXN| MAXN!;
int edge id[MAXN| [ MAXN;

LL dis _sum[MAXN];

int n,m,L;
LL get ansl
LL ans=0;
_rep(i,1,n
dis sum|[i|=0;
dj.solve(i,n);
_rep j' N

i==j

int u=edge(dj.p[j]].from,v=edge(dj.pl[jl].to;
tree edgelil|ullvi=tree edgelil|(v]||ul=true;
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dis sum|i|+=dj.dis|j|==Inf?L:dj.dis]|]

;
ans+=dis sum/[i];
ans;

LL get ans2(int u,int v
LL ans=0;
_rep(i,1,n
Itree edgeli|(ullv
ans+=dis sum|1i/;

dj.solve(i,n);
_rep jr N
ans+=dj.dis|j|==Inf?L:dj.dis]|]j

.
’

ans;

int main

~scanf ("%d%d%d" ,&n,&m, &L
edge cnt=0;mem(head,0);
mem(tree edge,0);
_rep(i,1,n
_rep j' N
edge wl(il[j].clear();
int u,v,w;
m__
u=read int();v=read int();w=read int();
edge wl(ul[v].push back(w);edge w[v]|[u].push back(w);

_rep(i,1,n
_rep(j,i+l,n
edge w(i|[jl.size
sort(edge wii![j]|.begin(),edge wiil|j!.end

.
’

Insert(i,j,edge wiil|[j ;edge id[i]|j/=edge cnt;
Insert(j,i,edge wiil|[j] ;edge id[j![i/=edge cnt;
LL cl1,c2;
cl=c2=get _ansl();
_rep(i,1,n

_rep(j,i+l,n
edge w(i|[jl.size
edgeledge id[i|[j!|.w=edgeledge id[j|[i]|]|.w=edge wl/i|[j!.size()>17edge w|i
j LN
c2=max(c2,get ans2(i,j));
edge/edge id/i![j!|.w=edgeledge id|[j|/i]|]|.w=edge w[i]|]
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space(cl);enter(c2);

oot

guoooooon

HEN

00000 su$ 000000000000 000D0O $uw$000oDoooOoo

O000 %e$000000000000O0O0C0OO $e$00D0000ODO

good

00 $text{dfs}$ 000000000000 DOOOO0OOODO0OODOOO0ODOOOOODODOOOO
gobooobbooobobooonoo

O $\text{low}(u)$ 0 $us 0000000 $us 0 $faus 000000000000 $\text{pre}s 00O

00 $u$s 0000000 $u$00000 $u$s0 000000000 $u$S00000000 $u$s00
0000 $v$ OO0 $\text{low}(v)\ge \text{dfs_id}(u)$[]

0000000 $\text{low}(v)\gt \text{dfs_id}(u)$0C $(u,v)$ O OO

000 $\text{dfs}$ 000000 $text{low}$ 0000000000 DO0OOO0ODOOOOOOOOO
0000000 $0(n+m)s$

int low|[MAXN!,dfs id[MAXN|,dfs t;
bool iscut[MAXNI;
void dfs(int u,int fa
low/ u/=dfs id|u|=++dfs t;
int child=0;
int i=head(u];i;i=edge[i].next
int v=edge([i].to;
v==Ffa ;
ldfs_id[v]){/O000O0O
dfs(v,u);
low/ul=min(low|ul,low[Vv]);
low|v|>=dfs idlu|&&u'!=fa
iscut|ul/=true;
child++;
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low/ul=min(low/ul,dfs id[v!);/00 01111

u==fa&&child>=2)//01 01 [ [][]
iscut/ul=true;

goooooobon

HEN

gobogobooobbooaon

e JO0DUOO0ODDOODODDOOODDO
e J0D0OUOODDOUOUODLDbDOOLDDOOODRDDO
e JODOOOO

oo -ddddUUUUuUUu-bbbbbbbLboLoo-bbbbhobo
goboooobobooobbooonoobooa

e J0DUUOODDUOODODDObOOUODRDO
e J0D00OUOODDOUOODDOOODLDOOO
e JODODOO

oo -ddddddUUuUdu-bbbbbbbLbLbobL-bbhbbhobo

gogg

gbo-b0oobbooooboog

e IOOOUOOOOOU-OODODOO
e OO OOOODODOOOOODODOODOODODODODODODODO
e J00DUUOODLDOUODDObOOODRO

O00-0000000000000000 $\text{dfs}s 00000000 $\text{dfs}$s 0000000
goodoooad

0000000000000 00000000000000000000000000000
$0(n+m)$

ddddudodddooooooouuououuuouda

int low/MAXN|,dfs id[MAXN|,dfs t,bcc id[MAXN|,bcc cnt;
vector<int> bcc/MAXN];
stack<pair<int,int> >Stack;
bool iscut|/MAXN];
void dfs(int u,int fa
low/u|=dfs idlu|=++dfs t;
int child=0;
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int i=head|u];i;i=edge[i].next
int v=edgel[i].to;
v==fa ;
ldfs id|v
Stack.push(make pair(u,v));
dfs(v,u);
low|ul=min(low(ul,low|v]);
low|v|>=dfs idlu
iscut/ul/=true;
pair<int,int> temp;
bccl++bcc cntl.clear();
true
temp=Stack.top();Stack.pop();
bcc id[temp.first]|!=bcc cnt
bcc id[temp.first|=bcc_cnt;
bcclbcc cnt].push back(temp.first);

bcc_id[temp.second]!=bcc cnt
bcc_id|temp.second|=bcc cnt;
bccibcc _cnt].push back(temp.second);

temp. first==u&&temp.second==

’

child++;

dfs id/v/<dfs id/u
Stack.push(make pair(u,v));
low/u|=min(low/u],dfs id(v]|);

u==fa&&child<
iscut/u|=false;

void find bcc(int n
mem(dfs id,0);
mem(iscut,0);
mem(bcc _id,0);
dfs t=bcc cnt=0;
_rep(i,1,n

ldfs id[1i
dfs(i,i);

gbo-0000bbooooog

e JO0DOUOOO0DOOO-DDOOOODLDOOObLDUOODDOO-ODDOO
e JUO0DOUOOO0ODLDDOOODDOOODDO

CVBB ACM Team - https://wiki.cvbbacm.com/



Last

update: 2020-2021:teams:legal_string:jxm2001:
2020/08/01 oo

00:03

O00-00000000000000-000000000000000 $text{dfs}s 0000000
$\text{dfs}s 00O OO0 O00ODOOOOO

https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:jxm2001:%E5%9B%BE%E8%AE%BA_1&rev=1596211417

00000000-00000000000000000000000000000000000000
00000000000000

001

00 p3225

oo

00 $n$000$M$ 00000000000 DOO0O0O0ODODOOO00ODOOO0O0OOOOO0OODODOOO
goon

gobooobboodobooobboooboon

go

oooboooboob-oooboboooo-0cboooboooo-b0oobo0booooo
OOobO0o-0bo0oboooboossO-0bb00oDbDO0b0obOU0bOooOOobbOObDOoOoboOoDo
Oo-000oboobooswooo-opbooooooobooboobbooboooooobooo

OO0-000000000s00000000000bO-0000000000DO0o000gnD s1s00-
ddodooooooouoooo

gobooobobooobbooobobooon

const int MAXN=505,MAXM=505;
struct Edge
int to,next;
edge MAXM<<1];
int head[MAXN|,edge cnt;
void Insert(int u,int v
edge| ++edge cnt|.next=head|u];
edge/edge cnt].to=v;
head|u!=edge cnt;

int low|/MAXN!,dfs id[MAXN|,dfs t,bcc_id/MAXN|,bcc cnt;
vector<int> bcc[MAXN];
stack<pair<int,int> >Stack;
bool iscut|/MAXN];
void dfs(int u,int fa
low/u/=dfs id|u|=++dfs_t;
int child=0;
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int i=head|ul;i;i=edge/i].next
int v=edge(i].to;
v==fa ;
ldfs idlv
Stack.push(make pair(u,v));
dfs(v,u);
low|ul=min(low(u],low[v]);
low|v|/>=dfs id[u
iscutiul=true;
pair<int,int> temp;
bccl++bcc cntl.clear();
true
temp=Stack.top();Stack.pop();
bcc_id[temp.first]|!=bcc cnt
bcc _id|temp.first|=bcc cnt;
bcclbcc cnt].push back(temp.first);

bcc_id|temp.second]!=bcc cnt
bcc_id[temp.second|=bcc cnt;
bccibcc cnt].push back(temp.second);

temp. first==u&&temp.second==v

’

child++;

dfs id/v/<dfs idlu
Stack.push(make pair(u,v));
low/u|=min(low/u],dfs id[v!);

u==fa&&child<
iscut|/u|=false;

void find bcc(int n
mem(dfs id,0);
mem(iscut,0);
mem(bcc _id,0);
dfs t=bcc cnt=0;
_rep(i,1,n

ldfs id[1i
dfs(i,i);

int main

int kase=0,n,m,u,v;
m=read int

n=0,edge cnt=0;
mem(head,0);
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m--
u=read int(),v=read int();
n=max(n,u),n=max(n,v);
Insert(u,v);
Insert(v,u);

find bcc(n);
int ansl=0;
unsigned long long ans2=1;
_rep(i,1,bcc cnt
int cnt=0;
_for(j,0,bcclil.size
iscut/bcclil ]
cnt++;

cnt==
ansl++,ans2*=bcc[i].size()-1;
cnt==
ansl+=2,ans2*=bcc|i].size()*(bccli].size()-1)/2;
_rep(i,1,n
I'bcc id[1

ansl++;

printf("Case %d: %d %Lllu\n",++kase,ansl,ans2);

002
EDU92 GO
0o
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$\text{dp}$[

OOoboooboosooooboobooooboo@oooboooobooooDooon)

O00$1$000000000 $\text{dpHu)$ 000 $1$00000000000000O0O $u$s0000
sus 000000 Oooooo

O0 $\text{dpHu)$ OO0 0 $u$ 0000000 0O0O0O0ODOOOO0OOOOO0O0OOOO $u$s0O0OO
O0O0Ooooo $vsg

000000000000 $v$s00000O0O $v$s 000000000 $vitou$s 0000000
$\text{dp}(u)\gets \text{dp}(v)$[]

0000000000000 $v$0000000D0O0O0O0O $uvtov$ 00 O0OO0OO0OO0OO0OOOOO
$\text{dp}(u)\gets \text{dp}(v)$[]

O0000000000000000 $v$000000000000 $us0000000000 $vs$
00 $us[

D000 $v$ 0000000 $u$o0 $v$ 000000 $us 000000 $vus0OOooooono
OO0O00O0d $dp(v)-w(u,v)$Q

OO00D0DO0oOoo0ooogo $dp(u)=\max(0,dp(v)-w(u,v))$[

000000000 $0n$sOD00%Ns0 000000000000 000000n $\text{dp}s$Q
O00000000000 $u$fsvé 0 sus 00O OO

O000O0$v$0O sus00ooooooonoon $u$sooonooooo $v$soonoooooooon
O0000 $us000ooD $v$sooonoooooon

0000 $\text{dfs}$ 000 00000000000 $0(n)$0

const int MAXN=3e5+5;

struct Edge
int from,to,id, next;

edge [ MAXN<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v,int idx
edge|++edge cnt|=Edge{u,v,idx,head|u]l};
head|u|=edge cnt;

int low|[MAXN|,dfs id[MAXN|,dfs t,bcc id/MAXN|,bcc sp[MAXN|,bcc cnt;
bool is bridge[MAXN];

LL bcc v[MAXN|,dp ! MAXN!,ans MAXN];

vector<int> bcc[MAXN];

vector<pair<int,int> >g[MAXN];

int k,c[MAXN!,node sp[MAXN|,edge w/MAXN];

void dfs(int u,int fa
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low/u/=dfs id|u|=++dfs t;
int i=head(u];i;i=edge[i].next
int v=edge([i].to;
v==fa ;
ldfs idlv
dfs(v,u);
lowlul=min(low(u],low[v]);
low/v/>dfs id|u
is bridgeledgel(i].id|=true;

low|/u/=min(low/u],dfs idiv]|);

void dfs 2(int u,int fa
bcc idlul=bcc cnt;
bcc vibcc cntl+=clul;
bcc splbcc cnt]+=node splul;
bcclbcc cnt].push back(u);
int i=head(u];i;i=edge[i].next
is bridgeledgeli].id ;
int v=edgeli].to;
v==Ffa||bcc id[v ;
dfs 2(v,u);

void get bcc(int n

dfs(1,1);
_rep(i,1,n
Ibcc idl1i
bcc_cnt++;
dfs 2(i,1);

_rep(i,1,edge cnt
is bridgeledgeli].id
int u=bcc _id|edge(i!.from|,v=bcc id|edgeli!.to];
glul.push back(make pair(v,edge w/ edgeli].id ;

void update edge(int u,int v,int d,int w
LL t=dplv];
bcc splv|=0&&bcc splvi<k
t=max (OLL,dp/v]-w);
dplul+=d*t;
bcc splul+=d*bcc _splv!;

void dp _1(int u,int fa
dplul=bcc viul;
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_for(i,0,glul.size
int v=glul[i].first,w=gl[u][i].second;
v==fa ;
dp 1(v,u);
update edge(u,v,1,w);

void dp 2(int u,int fa
ans/ul=dplul;
_for(i,0,glul.size
int v=glul[i].first,w=glu][i].second;

v==Ffa ;
update edge(u,v,-1,w);
update edge(v,u,l,w);
dp 2(v,u);
update edge(v,u,-1,w);

update edge(u,v,1,w);

int main

int n,m,u,v;
n=read int(),m=read int(),k=read int();

_rep(i, 1,k

node splread int()|=1;
_rep(i,1,n

clil=read int();
_rep(i,1,m

edge w/il/=read int();
_rep(i,1l,m

u=read int(),v=read int();
Insert(u,v,i);Insert(v,u,i);

get bccin);
dp 1(1,1);
dp 2(1,1);
_rep(i,1,n
space(ans/bcc id[1i ;

’

Joggoooon

good

00 $\text{dfs}$ 000000 $\text{dfs}$ 00000000000
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int dfs id/MAXN], low|/MAXN|,dfs t,scc id/MAXN|,scc cnt;
vector<int> scc|MAXN
stack<int>Stack;
void dfs(int u
low/ u/=dfs id|u|=++dfs_t;
Stack.push(u);
int i=head|u];i;i=edge|i].next
int v=edgel[i].to;
ldfs idlv
dfs(v);
low[ul=min(low(ul,low|v]);/000

’

Iscc_id[v])/0O000O0O
low/u/=min(low|/ul,dfs idiv]);
low/u/==dfs id[u

int temp;
scc[++scc_cnt].clear();
true
temp=Stack.top();Stack.pop();
scc_id[temp/=scc cnt;
scciscc_cnt].push back(temp);
temp==

’

void find scc(int n
mem(dfs id,0);
mem(scc_id,0);
dfs t=scc _cnt=0;
_rep(i,1,n

ldfs id[i
dfs(i);

ugd

« J0D00D00O0DODOD $text{DAG}$J0 OO OOIODOOOODODODO

0000000 $a$ 00000 $0$0$b$ 00D DO $0$00 00D 0D $\max(a,b)$ 10000
0oO0o@Oooooo)
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$\text{2-SAT}$ O O

good

0000000 $(\neg)x_itext{ opt }(\neg)x j$ 00O OOOOOODO

00 $xi$ 0000000 $\text{opt}$ 000000000

0ooQ

D00 $xi$00 $y {2360 $y {2i+1}$ 000000 $y {21}$ 00 $xi$ 000 Sy {2i+1}$ 00
$x i$ 000

000 $x$ 0000 $y$0000 $y'$000000000000000000

$$ \begin{equation} x_i\lor x_j\iff {y'} i\toy j,y_i\to {y'} j\\ x_i\oplus x_j\iff {y'} i\toy j,y j\to
{y'}_i,y_ivto {y'} j.{y'} j\toy i\ x_i\iff {y'} _i\toy i\end{equation} $$

0000 $\text{Tarjan}$ 0000000000 OO00ODOOOOO $y$0sy's00opooooooooOd
googod

O0000000 $y$0sy'$s 00000000000 O00O0ODO0O0O0O0O $\text{Tarjan}s 0O OO0
0000000000 $0(n+m)sd

bool query(int n
_rep(i,1,n
scC id|i<<l]==scc id|i<<]1|
false;

Bool[i]=scc id[i<<l]>scc id[i<<1]|1];

true;

an

UVA1391

ERN

000000000 $n$ 0000000000000 0 $x$000 3000000 DO0O0OO0OODODO
goon

0000000 $x$000000000 $A$0000000 $x$000000000 $B$0O0 D00
000000 $C$

O¢ém$0000000000O0O00ODO0O0O0O0ODOO
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0000000000000 0000000000 $x$00000000 $x_i\oplus x_j$00

0000000000000 000DC000 $Cs00nooog $x iNorx jsO

const int MAXN=2e5+5,MAXM=1e5+5;

struct Edge
int to,next;

edge  MAXM<<2 | ;

int head MAXN|,edge cnt;

void Insert(int u,int v
edge|++edge cnt|.next=head|u];
edge/edge cnt|.to=v;
head|u|=edge cnt;

int dfs id/MAXN], low|[MAXN|,dfs t,scc id/MAXN|,scc cnt;
vector<int> scc|[MAXN;
stack<int>Stack;
void dfs(int u
low/u/=dfs id|u|=++dfs t;
Stack.push(u);
int i=head(u];i;i=edge[i].next
int v=edgeli].to;
ldfs idlv
dfs(v);
low/ ul=min(low/ul,low|[Vv]);

Iscc_idlv
low/u/=min(low/ul,dfs idiv]|);

low u/==dfs id[u
int temp;
sccl++scc_cnt].clear();

true

temp=Stack.top();Stack.pop();

scc_id|temp|=scc_cnt;

scclscc_cnt].push back(temp);
temp==u

1

void find scc(int n
mem(dfs id,0);
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mem(scc_id,0);
dfs t=scc_cnt=0;
_rep(i,1,n
ldfs id[1i
dfs(i);

bool Bool[MAXN!,type MAXN];
bool query(int n
_rep(i,1,n
scC id[i<<l|==scc id|i<<]1|
false;

Bool|il=scc id[i<<l]>scc id[i<<l|1];
true;

int Age[MAXN];
int main

int n,m,u,v;
~scanf ("%d%d",&n,&m

N==0&&m==
mem(head, 0) ;edge cnt=0;
int s=0;
_rep(i,1l,n
Agelil=read int(),s+=Agelil;
_rep(i,1,n
typelil=(Agelil*n>=s);

m__
u=read int();
v=read int();

typelu/==typelv
Insert(u<<l,v<<l|1);
Insert(v<<l|1l,u<<l);
Insert(v<<l,u<<l|1);
Insert(u<<l|1l,v<<l);

Insert(u<<l,v<<1|1);
Insert(v<<l,u<<l|1);

find scc(in<<l);

query(n
_rep(i,1,n
Bool |1
typeli
puts("A");
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puts(“B");

putS "C" :

puts(“No solution");
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